2 digit addition (with and with no regrouping)

Add the numbers and write down the correct answer
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1 . 37 2 L T3 3 L T
68 88 85
' ™ ™
4 . 48 E] . 35 [ . 68
61 o1 73
4 %N = 55 w,
= Ty
7 . 99 ) . 94 9 . 67
61 61 44
N i &
10] . 38 1 L. 97 12 , 64
60 52 79
' ™ '
1) . 52 14 .97 1) ., 53
72 99 45
™\ ™\ ™
16) . 76 17 , 6l 18] L 35
44 35 88




Ritge/uaw. shinomath_som,

™ ™ ™
Y x B 2 ; 7 3 v T
68 88 85
105 161 162

' 4 ™
4 L 48 3 . 3 4 T
61 91 73
109 126 141

™ ™ ™
7 L 9 8 . 9 9) , 67
61 61 44
160 155 111

™ ™ '
10f . 38 1 L. 97 12 . 64
60 52 79
08 149 143

™ ™ 4
13 g 55 14 z o 13] v 53
72 99 45
124 196 08

™ ™ ™
1¢] . 76 17 . 6l 18] . 35
44 35 88
120 96 123




